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1) X=[-1 0 2]; sum(sum(X))
2) A=[eye(1,2);0nes(1) zeros(1)]
3) A=[-1,0,3;-2,5,4]; B=A."2; diag(B)
4) D=[1;2;0;4;6;3]; D(8)=10; D=D"; D(2)=4
5) C=[ones(2);eye(2)];C=C"; C=C."2
6) V=[-1 2 5]; diag(V,-1)
7) U=[1,5,0,2];W=[4,2,1,3];2*U+3*W
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1) A=[-3,4,255,0,1]5 ceeeeerennneeennenennncennnns
30
2) Y=[5,0,1,2,41;Z=[2,-1,3,5,0]; «evvvvereerrnnnreennen.
ans=23
3) Y=[5,0,1,2,41;Z=[2,-1,3,5,0]; «eevvverrerennnreennn.
Z=10 03100
4) X=[-2505154535251]5 ceeenerennnrennnecenncecnnnnnn.
Z=-8 016427 81
5) A=[zer0oS(1,2) [-1 1 2]]5 ceeveeeeeeennrcnnnscnnnscannsens
A=-11 2
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